FEKih s (BRKith4a) IAZILFEPNEDEVDRK (NEFFE2)
HKERH B3] B “f5g48188| 471545098 | $F1s46A278 | 05578188 | Si0548 A 18 | $F1549A26 8| 2tns4108 108 | SfsE108318 | $i055128198 | Sin641 B238 | SFn6r2 H6 B | SF1643H26
EKEZ — (51@1'”5) 9:00 8:59 10:00 9:30 10:50 9:41 10:32 9:30 9:03 9:04 9:10 9:10
KB °C =18 17.4 17.0 221 23.2 26.1 26.0 23.6 21.4 14.6 12.3 11.1 13.4
— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0
N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001 <0.001 <0.001 <0.001
T AEMAXVRE | Al oo <0.001 <0.001 <0.001 <0.001
e me/L 0.6 <0.05 <0.05 0.05 <0.05
HO0OEER meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sookiLLs meg/L|  0.06 0.011 0.012 0.019 0.007
CHOOEEE me/L|  0.03 0.009 0.006 0.008 0.004
<JOoE/O0024> |me/L 0.1 0.001 0.001 0.002 0.002
REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
NUIN=EL D meg/L 0.1 0.018 0.018 0.029 0.014
) OOEEE: mg/L|  0.03 0.011 0.010 0.013 0.005
JOECH/O0aA4> |meg/L|  0.03 0.006 0.005 0.008 0.005
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 <0.005 <0.005 <0.005 <0.005
FHEIRBRUVZDIEESY [me/L 1 <0.004 0.004 <0.004 <0.004
4@17':’%"%—'7/"&”%0) me/l| 02 0.016 0.012 0.028 0.021
HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01
RARUVZFDIEEY mg/L 1 0.001 0.002 0.002 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
Bl A4 mg/L 200 9 8 9 10 9 8 8 8 8 9 9 8
AREZREY mg/L 500 86 81 78 78
I AIY ng/L 10 A A 1 <1 A 2 1 1
2-AF ILAIRILFA—)L [ng/L 10 A A A A A A 4 A
ﬁféc)%agg)ﬁ EEs meg/L 3 0.7 0.7 0.8 0.6 0.5 0.9 0.8 0.8 0.8 0.8 0.8 0.6
pHIE — | 5.8~86 7.4 7.4 7.3 7.2 7.2 7.4 7.4 7.6 7.6 7.6 7.5 7.4
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BRE4L| BER4L] 2Exal] Eual] mEal] BExal| Bgal| BEwgal
BER — [Bgonnce| BEgal| BEggl| BEEgl] Beggl| BE4gL] BERalL]  2Exal] mEal] mEal] =mxal| Bgal| BEwal
BE E 5 <0.5 <05 <05 <05 <05 <0.5 <05 <05 <05 0.5 <05 <05
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 01Kl E 0.5 0.6 0.5 0.6 0.6 0.5 0.7 0.6 0.5 0.6 0.6 0.6
g 31 B e B meg/L 20 3 4 4 4
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e o . . —I*ETEMJ%t
NERMEGUTITHER)| — b,:l’;@gw':ﬁ -1.4 -1.7 -1.3 -1.1
i)
HEEXEMER f8/m| 2000 0 0 2 0
z FILHE mg/L — 35 27 37 44
D ERmERE 1S/om — 110 94 112 104 87 115 112 124 125 126 125 98
ﬁﬁmwru»rz“p mg/L — 14 12 14 16
LNRBRIEE260) | — — 0.011 0.009 0.010 0.009 0.007 0.013 0.013 0.010 0.011 0.010 0.011 0.008




